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public class Graph1 extends Graph {
public Graph1(String name) {

super(name);

intn=8;
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graphLib.Vertex vList[] = new graphLib.Vertex[n];

for (inti=0;i<n;i++){
vList[i] = new graphLib.Vertex(String.valueOf(i));
addVertex(vList][i]);
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double d = 80.;
vList[0].setPoint(d, d);
vList[1].setPoint(d, 4 * d);
vList[2].setPoint(2 * d, 2 * d);
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vList[3].setPoint(3 * d, 2 * d); 8
vList[4].setPoint(5 * d, d); \ 9
vList[5].setPoint(3 * d, 4 * d);
vList[6].setPoint(4 * d, 3 * d): Z/ﬁ/ \\Q\
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vList[7].setPoint(5 * d, 4 * d);
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intk =0; ) ]
addArc(vList[0], vList[1], String.valueOf(k)); k++;
addArc(vList[0], vList[4], String.valueOf(k)); k++;
addArc(vList[1], vList[6], String.valueOf(k)); k++;
addArc(vList[2], vList[3], String.valueOf(k)); k++;
addArc(vList[2], vList[0], String.valueOf(k)); k++;
addArc(vList[3], vList[5], String.valueOf(k)); k++;
addArc(vList[3], vList[6], String.valueOf(k)); k++;
addArc(vList[4], vList[2], String.valueOf(k)); k++;
addArc(vList[4], vList[6], String.valueOf(k)); k++;
addArc(vList[4], vList[7], String.valueOf(k)); k++;
addArc(vList[5], vList[1], String.valueOf(k)); k++;
addArc(vList[5], vList[7], String.valueOf(k)); k++;
addArc(vList[6], vList[5], String.valueOf(k)); k++;
addArc(vList[6], vList[7], String.valueOf(k));
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